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Answers are to be given only in English except in the case ofcandidates who have opted

for Hindi Medium. Ifa candidate has not opted for Hindi Medium, his/her answers in

Hindi will not be valued.

Question No. I is compulsory.

Answer any fiv€ questions from the remaining six questions.

Working notes should form part of the answers.

Mrks

l. Answer the following: 4x5

(a) Following details are related to a manufacturing concem , ='o

Re-order Level _ 160000 units

Economic Order euantity _ 90000 units

Minimurn Stock Level _ 100000 units

. Maximum Stock level _ 190000 units

Average Lead time _ 6 days

Diff€rence between Minimum lead time and

Maximum lead time _ 4 davs

Calculate :

(i) Maximum consumption per day

(ii) Minimum consumption per day
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(b) Zed Limited se[s its podrct at ? 30 per unit. During tll€ quarter ending

on 3ld March, 2014, it produced and sold 16000 units and suffq€d a

lo6s of I l0 per unit. If the volumc of sales is rais€d to '10000 units, it

- can eam a profit ot< S per unit

You are required to calculate :

(i) Breah Even Point in Rupees.

(ii) Profit ifthe sale volume is 50000 units.

(iii) Minimum tevel of production where the company needs not to

close the production if unavoidable fixed cost is { I ,50,000.

(c) Alpha Limited rEquircs funds amounting to I 80 lakhs for its new

piojc€t To raise thc funds, the company has following two alternativ€s :

(i) to is$e Equity Sharcs (at par) amounting to I 60 lakhs ad bormv

the balame amount at dre int€rcst of l27o p.a.; or

(ii) to issue E{uity Shar€s (at par) ard 12% Debentu€s in €qual

proportion.

The Income-tax rate is 3flo.

Ffuld orrt the point of indifi€r€nce between the available two mod€s of

ftuncing and state which option will be beneficial in diff€r€nt situations.
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'A' Ltd and 'B' Ltd are identical in every rcsp€ct exc€pt capital stuctue.

'A' Ld. do€s not enrploy debts in its capital slluctul€ wher€as .8, 
Ltd.

efiplo),s 12% |hnlres amounting to t l0laklB. Assurning that :

(i) Alt assurytions of M-M model are met

(ii) Irrcome-bx mte is 3fflo ;

(iiD EBIT is ? 2,50,000 and

(w) The Equity capltatization rate of .A' 
Ltd. is 20%.

Calcrrlate the value ofboth thc companies and also find out 0re Weighted

Average Cost ofCapital for both the companies.

Z Limited obtained a contract No. 999 for { 50 lacs. The following derails

are available in respect of this contract for th€ year ended March 31, 2014 :

t
l,60,000

5,00,000

7,00,000

60,000

15,000

25,000

60,000

20,000

30,000

20,000

Marks

2. (a)

Mat€rials puchas€d

Maleria.ls issued from stores

Wages and salaries paid

Drawing and maps

Sundry experxes

Elcctricity charges

Plant hire expenses

Sub.contract cost

Materials retum€d to stores

Materials retumed to suppliers

KVB-H P.T.O.
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The following balances relating to the contract No' 999 for the year

ended on March 31,2013 and March 31,2014 areavailable:

es on 3l't as on 31"'

March, 2013 Merch' 2014

Work certified 12,00,000 35'00'000

Work uncertified 20,000 40'000

Materials at site 15,000 30,000

Wages outstanding 10,000 20'000

The contractor rec€ives 75% ofwork certihed in cash'

Prcpare Contract Account and Contactee's Account'

(b) Balance Sheets of Star Ltd' are as under : 8

Bdrnce She€t

(in lakh Q

Lirbilities
3l/03/13

t
3y03l14

?

Assets

3l/03/13

?

3u03i14

?

Share Capital

Reserve

Proltt & Loss AJc.

Debentur€s

Provision for Taxation

Proposed Dividend

Sundry Crediton

Totgl

24.N

4.50

1.80

2.10

3.00

24.&

30.001
I

6.00

3.00

6.00

3.00

6.00

21.00

Plant & Machinery

Buildings

lnvestments

Sundry Debto$

Stock

Cash in hand/Bank

Totil

15.00

12.00

21.00

6.00

6.00

2 t.001

rs00l

3.00

15.00

12.00

6.00

60.00 75.00 60.00 75.U)
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With the help of following additional information, prepare Cash Flow

Statement :

(i) Depreciation on plant and nachinery was charged @ 25o/o oa iE

opening balance and on building @ l0% on its opening balance.

(ii) During the year an old machine costing ? 1,50,000 (written down

value ? 60,000) was sold for I 1,05,000.

(iii) ( I,50,000 was paid towards Income_tax, during the year.

3. (a) RST Limited is pres€ntly operaring at 50% capacity and producing g

30000 units. The entire output is sold at a price of { 200 per unit. The

cost structure at the 50% level ofactivity is as under :

?

. Direct Material 75 per unit

. . Direct Wages 25 per unit

Variable Overheads 25 per unit

Direct Expenses 15 per unit

Factory Expenses (25% fixed) 20 per unit

Selling and Distribution Exp. (g0% variable) 
.10 per unit

Oflice and Administrative Exp. ( I 00% fixed) 5 per unit

The company anticipates that the variable costs will go up by lQplo and

fixed costs will go upby l5%.

You are required to preparc an Expense budget, on the basis of
marginal cost for the company at 50% and 60% level of activity and

find out the profits at respective levels.

KVB.H P.T.O.
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(b) From thc following information, prepare Balance Sheet ofa fimt :

Marks

8

4, (a) Following information have

XYZ htt. Ltd :

Stores :

. Opening balance

o Purchases

o Transfer from WlP

o lssue to WIP

o Issue for rePain

Deficiency found in stock

Stock Tumovcr Ratio (based on cost of goods sold)

Rate of Gross Profit to Sales

Sales to Fixed Asseb

Average debt collection Period

Curent Ratio

Liquidity Ratio

Net Working Capital -

Net Worft to Fixed Assets

Reserve and SurPlus to Capital

Long Term Debts

All Sales are on credit basis

- 7 times

- 25o/o

- 2 times

- 1.5 months

- 1.25

{ 8,00,000

- 0.9 times

- 0.25 times

- Nil

b€€n extracted from the cost records of

t
54,000

2,88,000

1,44,000

2,88,000

36,000

10,800

KVB-II



. Entire production is

cost at WIP

. Wages paid

. Ovefteads incur€d 4,50,000

Draw the Sbrcs t €dg€r Contsol Aaount, Wod(-h_progr€ss Contsol

Account, Overh€ads Coftol Account and Ccrsting hofit and t ss Accout.

(b) The Capital structure ofRST Ltd. is as follows :

(?

KV&II

Wort-in-Progress :

o Opening balance

. Dir€ct wages applied

o Overfieads charged

o Closing balarce

Finished Production :

Equity Share of? l0 each

l07o Preference Sbare off 100 each

12% Debentures ofl 100 each

sold at a profit of 15% on

1,26,000

?

I,08,000

l,08,000

4,32,W

'12,w

Mrrkr

8

{

8"00,000

5,00,000

7,00,000

20,0o,000

KVB.H P.T.O.
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Addldond ltrforE tion :

- Profit after tax (Tax Rate 30olo) are ? 2'80'000

- Oeerating Expenses (including Depreciation ? 96'800) are l'5

tim€s of EBIT

- Equity Dividqd Paid is l5olo

- Ma*er Price of E4uity Share is ? 23

Crlculete :

(i) Operating and Financial Leverage

(ii) Cover for prefercnce and equity dividend

(iii) The Eaming Yicld Ratib and Price Eaming Ratio

(iv) Thc Na Fund Flow

Notc : All opemting expenscs (excluding depreciation) are variable'

5. (a) ldenti$ the methods ofcosting for the following : 4x4

=16

(i) Where all costs are directly charged to a specific job'

(ii) Where all costs at€ di€ctly charged to a gxoup ofproducts'

(iii) Where cost is ascertained for a single prcduct'

(iv) Where the natur€ ofthe product is complex and method can not be

ascertained.

KVB.H
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O) Explain the treahcnt of over and undcr absorption of overteads in cost

accounts,

(c) Exptain four kinds of float with r€fercnc€ to managcment of

cash.

(d) Distinguish between 'Opcrating L€6s€' and 'Firuncial Lease'.

6. (a) PQR Ltd. having an annual sales of t 30 lakhs, is rc-considering its

present collection policy. At present, thc average collection period is

50 &ys and the bad debt losses arc 5% of sales. The company is

incuning an expenditur of { 30,000 on account of collection of

receivables.

The altcroative policies arc as under :

Altermtive I Ntcrnrdvc ll

Averagc Collection Pcriod

Bad D€bt Loss€s

Collection Expcnses

,t0 days

4% ofsales

( 60,m0

30 days

3% ofsales

( 95,000

Evaluate the altematives on the basis of incremental approach and state

which alternative is more bcneficial.

Mrrks

P.T.O-KVFH
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The following infomration rclate to Prcc€ss A :

(i) Op€ningwork-in'Progress

Degree of ComPletion :

Material

Labour and Overhead

(ii) lnput 1,82,000 units at

(iii) Wages Paid

(iv) Overheads Paid

(v) Unis scraPPed

Degree of ComPletion :

Material

Wages and Overheads

(vi) ClosingWork-in-Progress

Degree ofComPlaion :.

Material

Wages and Overheads

(vi0 Units completed and transfened

1,58,000 to next Process

(viii) Normal loss 5% of total input

including oPening WIP

(ix) ScraP value is t 5 Per unit to be

adjusted out of direct material cost

Mrrlrr

8

8,000 units at t 75'000

lO0P/o

6Vh

( 7,37,500

? 3,,10,600

? 1,70,300

14,000

l00o/o

80%

18,000 units

100%

7V/o

You er.e required to compute on the basis of FIFO basis :

(i) EquivalentProduction

(ii) Cost Per Unit

(iii) value of Units transferred to next process'

KVB-H
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?. Answer any four of tte follo-rving : "T

(a) Why money in tbc firture is worrh less than similar money today ? Give 
=16

thc reasons and explain.

Distinguish between 'Busincss Risk' and 'Financial Risk'.

What is 'lnt€rrial Rate of Retum' ? Explain

Slale tbe different tl0€s of Packing Credir.

Define 'Labour Turnover'. How is it measur€d ? Explain"

o)

(o

(d)

(e)

KVBII P.T.O.
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T{ qft fl ft rql at +s6r fi rrtli Faft qrcqq Trr t c$} *' Tfi #€ d}+ { * t+ t r

*r RtFr{ fiilsi H qrqq cd gqr t, cfr ftd { gtr tcr t
d ss+H{ ftt'rt gtr} ar xeia rd ri'n r

cF {qT t qtrqr{ t r

ic u c{-{ { i ffi qtec{-r} *'ssrdH r

6fi ftqfiryqi 6ry6;6tu1g Nores) Tfi+qrqd+qtg I

1. ftqffi6$sm{ftq;

(r1 frqfrkdF*tq cdFfint**wr t ift-dt :

!{:qK{T RR

oflftrqr*ltffir

q<tcrcfr<rar

rnfffiqrdfrqTR{

dtsc qn* sqq

a+re ara rw at* elfu,EiFl €m-dr Tqq

*qq*cr

qqar dfrq.

(i) cfr fEaslqfr srqfrftqsq$T

(if l|aft-renfttr q+ar rv$rr

Merks

4L5

=20

- 160000 FF|{qi

- 90000 qsE{ft

- looooo {6r{ci

- lgoooo F6r+ci

- 6 ft-{

- 4k{
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CO '# frfr|6 qci FIq6I lfrq ( 30efter{qtqc*t rll 
q-{' zot++i

€qlqrdiqdffi{tr*i 16000 {{r{q} sr 4rfr gi H*q kt aql

d ? 10 qfr T6r{ ftl srfr Ei I fi Em d 
"* 

a669s 5or{ r*' {sr + qA'

d wi t g fd {6r{*'arq e1 erFm olsc& t t

qtq& €flqftd t fq' fi{qfrfild qX ralql iikg :

qc-ta-d<Fg $cA +)

-l" 6.6, q< k*l 41 ottl 56969 6ri d

qft qcfiGr{ gT* firTt (unavoidable fixed cost) ? l'50'000 E}' A

8il6{ 6t 6dc qnr qd a-*'w* scnc or so-ft t t

gg emr kfr|s +i t"iqt *i€ + fts ( 80 6Ic + 6iq * €qra{qfiI t t

ols 6] nq 6ri * tds tr+ + qrg trefrfi!-d d f*m sqcrq t :

(D { 60 dlc' + {qir ldrtr 61 qq{€ c( t{'ic dcr is q{ {Rr 6l lry'

qfr+' qq < q{ st{R iiqr; qstql

1ii; w-ar rdrilmery<q{ dt{ l2%FTqd6tqeqlt(dft*c

qr+fi q1 cr 3trlo t I

-qq ('silt *Rgslfl( dHsnqT fafuq
ta-Sqq *. 3q(a iit k6eit n

fieftrq]{ ot+ qr F*o-e arr*rt d'n' Eso de dfrq t

KVB.IT
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d*+fiidqrqfr

rtdetr+dr<t

lqttwr qd qifrT

fEfrq qq

frqdyqr

{{rfrmqqq
gq**r enn

riid *l slcff ilq€

.qrlffi6lrrq*eE{
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?

I,60,000

5,00,000

7,00,000

60,000

15,000

25,000

60,000

20,000

30,000

20,000

Mrrkr

6 'r Rfr|c ctr r{ frt*q, td ri.q-{ s} +ffi, rr qrrd { q+,.tst t
scn t r .r ftfrlE €qr+ tfr ricfi { ail or sqdq rS 6.e t irrfu
rr frfr)E st t{ iirs-{ { ? toarqt t 2ozo prq* {Fqfrd t r qr qni Ec

P*:

(r, M-M SqIrIq 6r gql qlqflg sqrgd e

(iD qn-wot<3ezot

(iii) .agsiqd+€ cr+{ ( 2,50,000 t ncr

(iv) 'f ftftlc +t rrar lFto'<or et c{ 20pl" t I

{-r} wg4 *,* *'pr+ clfucdqr s{+1t* al tilft-d qtsc sma m
dFq r

2. (!0 fufrfr|sic6'brdqrggsrsosrq{flqfuqI r lr qr{, zoHo}

{qq di qd s{ +frs Es i* *r{<d t ffikc kqrvr sqear t .
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w i# + tE{ { 3l ct+, 2013 dtr rr qrd, 2014 6i sqr< t+ qtd s{ {

3r qr{,2013 31crd,2014

fl

6r{-cqrFd l?,oo,ooo 35,oo,ooo

6r{ €qcqrfun 2o,ooo ,lo,ooo

or{-secrsg* l5,ooo 3o,ooo

rrfiqs{ft lo,ooo 2o,ooo

i+<R d nqtFta 614 EI ?59o rFl< etcT EsrT I

t+r gi ikn or qrar qcr{+ r

gay vrfrfr|s*arft-ofrifiF*qt: 8

qtftrrf{5r Cdrs t it)

qrRra
3U03/r3

?

3u03l14

.? {qfut
3r/03/13

?

3U03l14

t
si{r{*

{kd

srq.aH qrat

Fn:r

6T *frqsrqsn

rmidd f,rqi{r

frfrs+{<R

d,r

24.N

4.50

1.80

2.10

3.00

24.60

30.00

6.00

3.00

6.00

3.00

6.00

21.00

6iaFi cti-{ft

Tfi

frFTqlr

frHq icsr

Gtf,I

rsmr{6'{+€

tT

15.00

12.00

21.00

6.00

6.00

21.00

18.00

3.00

15.00

12.00

6.00

60.00 75.00 60.00 75.00
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fi reft fu a eft fr-m qa-+sil a1 q-{rrdl t rt€ n-qc kq{sT fu R dfu q :

(D qia qd q{ffi * mtro {e qr 25o4 6qr trfi } YRts{6 {fl q{

l0% ir{ nqfrd tdql 'Tcr 
I

(iD s{ + q-d,td ( 1,50,000 6t qfi-d 6t \'o' 5{+ qrfl-< teqkfuc te
a 60,000) { 1,05,000 { +*T4 |

(iii) q{+q<+d ( 1,50,000 + !cr{6{ 61 5r-cn fu+ 'r<r t

3. (q) €rR.ssA frfrzE Ttq|" { 50% frTdr c{ 5r{ 6{ Ts t d{ 30000 l6|{qi

sf,tkd 6{ {a t trqoi Tf,|(r ? 200 ufr 5firi 11 q{ { +qr qrdr t r

lmqrs61 *' to"o oa qt srrrc {rq+ fiq*t t :

!-s${rcfi

nssq*tt

qfisfficgqfi-qq

Ff,I{ EFI

6Rqmqc(25%RTfr)

futrc si kdroT qc (goz qfr{diri-O

Erqldq qd s{n€t{6,qc (100% sr$)

e'c-+ 6r *1erq t fr qffrc*nFc arrd {
qkd'ft t

lclct qSfra t t6. flF{iq-s-dr * so"z s}r 602 +- K{ *' ks dc|-< dFTd +

erun qr qqtr or qq cqe *qn dfrg qY{ {qfird sit * frs dTq ild

dfrs r

?

75 qfr {drt

25 efr Ssra

25 cfr {dr$

l5 efr Fsrg

20 cfr ror{

lo cfr {sri

5 qft E6r*

lo% Et{ sr4 drq-d} d t sx ot



(17)

KVB-H Mrrkt

6<1 frrqhfun(*ltdn,daqrkoft6ltqndhc: E

u+an-t+4n - 7W

c{q Tq qrd i5I f,Fld q{ 4IqI(O

bmqrvwqrqd< 25o/o

fu*atst4qefudq{qyrc - 2tFI

€ctga pr gmq rrsls - 1.5 qrf

qrq4tqid - 2

ifGrdr.Fiqftr - 1.25

gen*tsc$ - ( 8,00,000

*g q4 6r sr* FqfuqT q{ €r{qn - 0.9 T{r

{Fre ei qfufi 6r i* c( ir{qtil - 0.25 'FI

ffi{<Fr€ - l[q

qti,irfiq sqRgrq t r

4. (a1 xyzcrd.ftfr)ctal'rd.cfirddftfraqfltnqd'rtt: 8

rd{:
. yRFrfric

.67

. vqcr4 t rcirot
o qqed+ifulm

o qq.6fqfirisa

. . eiq,{cmd

a

54,000

2,88,000

I,44,000

2,88,000

36,000

10,800
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t
vrqor4:

. cRFr$iq

. ?rlrd FlrEE{I

o 3qft-qqsqrftd

. iihc ic

ffffnqa:

{Tdr dvl (t l0 F+d)

loelo {qlf46r d$ < 100 rd6'

12%*trd ( 100 f+s

r,08,000

1,08,000

4,32,0W

J2,0N

. sq'l Tf,r{{ qrqor4 ol ertrc qr 15% aFT + sFr

iqrqnr t r

. {Ertwn' 1,26,000

o gqftqq tTdrq 4,50,000

etC qnr-qd ff{rq crcr, ffi+ qq 6d fufilr Em, Bqftsq H{ror

qrdT itrtt F rkt EtFrdtFT t|ri iTqRi6rFq I

(g Rsrfrft)sdt* d€{T frqdd t :

?

8,00,000

5,00,000

7,00,000

20,00,000
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qfttuFqr<rt:

- alc{< drc Ctr{ +1 <{ 30/o) a 2,8o,ooo t I

- dqeq qq Grs ? 96,800 tri Tfufud wi Eq qs qftq*1* qrl

(EBIT)6I t.s'1art r

- qraranitqt Tr-an t:"2" krrrqrt r

- sr<rsiliaqF Rrts(23t r

'rur<rdfrq:

11 fi-emrdateacl ffic#q

. .(iD Tdrfirsn si {TdT aFdYI *fuq €f,rsni

6iD €r+{!ferw f{qnaqT1il a-+{ qiqd

(iv) rT56lq rslf

+. : $ft {qre{ qq ars 6t dsx1 qfftrffid t t

5. (rD fiqfrkd*HdFldffi{qfrftdvrqndHq: 
\I

(D qii {S dnd slFffftrq sqsr{ q{rf,H sq t cqtR-d 6tqd t t

(iD q6r sfrEFri TdRt* gos$qtceFsq* nqk+twtrt t
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(in) qii q6 f,rE* frcdrrd 6r Hrq fan qnr t r

(iv) qin TilrE q+ rfld qfa d qkfrfr or ffirq r foqr qr s# r

(o and +Ei { 3qfirqqt *'e-dc-risq G qfu{nsq *'aren*} qqg6q 
1

(F) +wsiq" *{<{ I vnron*rnila lnoat) rrg6i r

19 'iqrcr trt' qt{'ffi€cEr i dil{dHc r

6. (rf) PQR ftfr|q frsd qft-s ft-fi ( 39 drq |, sfir+ {tqlr {9-6q {fr c{ $fi-ql{ I
q*dt r +dqn d drsd {16"r €rdfu 50 tqffi q{ilq Fr aHfrfid 5%

t r s4 qq+ nr"ji 6{n-6ot +frs t 30,000 sr q{ fl (fr t I

Arfuo'{fr.iFq{dl:

ftR-I ft6a-II

dqf, ir6!r qsnr

qviq an afrrfr

{mqqc

40 ftir

Frcqt4%

t 60,000

30 fr{

fTfic 61 3olo

( 95,000

a&c.{ hfu+ orqrc{ffi qr Teifi dfus aft{ dq dHs fu. dr

srfuw eftrsanlrsr$ t r
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(r) cRfors slqqT4 twp)
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I

8,000 {6rFft

? ?5,000 q{

l00P/o

600/o

{ 7,37,500 rft

? 3,40,600

( 1,70,300

14,000

l00o/o

$Qo/o

18,000 F6r{qi

l0U/o

7f/o

(iD

(iir)

(iv)

(v)

Ekrdiofr:
{Icff

rqtqsqirqq

F5fr {s|Esi 1,82,000

cq$<tr

sqkqc(n

gorgl or wt

rytaelduft:
€rcfr

qgtt q gqft-qq

(vD rdftrq qrg6T4

ryt-<rd*uft:

{Icff
qq<fteiqftqq

(vii) fiFrd Fi tfitr$ vFfiI { FFiift-d - I ,5s,000 rorgi

(viii) rnr< Ftr - urGroftf sT{ 6t tn cF tFEd i
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PAPER – 3: COST ACCOUNTING AND FINANCIAL MANAGEMENT 

Question No. 1 is compulsory. 

Answer any five questions from the remaining six questions. 

Working notes should form part of the answers. 

Question 1 

Answer the following: 

(a) Following details are related to a manufacturing concern: 

Re-order Level 1,60,000 units 

Economic Order Quantity 90,000 units 

Minimum Stock Level 1,00,000 units 

Maximum Stock Level 1,90,000 units 

Average Lead Time 6 days 

Difference between minimum lead time and Maximum lead time 4 days 

Calculate: 

(i) Maximum consumption per day 

(ii) Minimum consumption per day 

(b) Zed Limited sells its product at ` 30 per unit. During the quarter ending on 31st March, 

2014, it produced and sold 16,000 units and suffered a loss of ` 10 per unit. If the 

volume of sales is raised to 40,000 units, it can earn a profit of ` 8 per unit. 

You are required to calculate: 

(i) Break Even Point in Rupees. 

(ii)  Profit if the sale volume is 50,000 units. 

(iii)  Minimum level of production where the company needs not to close the production if 

unavoidable fixed cost is ` 1,50,000. 

(c)  Alpha Limited requires funds amounting to ` 80 lakhs for its new project. To raise the 

funds, the company has following two alternatives: 

(i) to issue Equity Shares (at par) amounting to ` 60 lakhs and borrow the balance 

amount at the interest of 12% p.a.; or  

(ii)  to issue Equity Shares (at par) and 12% Debentures in equal proportion.  

The Income-tax rate is 30%. 

Find out the point of indifference between the available two modes of financing and state 

which option will be beneficial in different situations. 
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(d) 'A' Ltd. and 'B' Ltd. are identical in every respect except capital structure. 'A' Ltd. does 

not employ debts in its capital structure whereas 'B' Ltd. employs 12% Debentures 

amounting to ` 10 lakhs. Assuming that : 

(i) All assumptions of M-M model are met; 

(ii)  Income-tax rate is 30%; 

(iii)  EBIT is ` 2,50,000 and 

(iv)  The Equity capitalization rate of ‘A' Ltd. is 20%. 

Calculate the value of both the companies and also find out the Weighted Average Cost 

of Capital for both the companies.  (4 x 5 = 20 Marks) 

Answer 

(a) Difference between Minimum lead time Maximum lead time = 4 days 

Max. lead time – Min. lead time = 4 days 
Or, Max. lead time = Min. lead time + 4 days.............................................(i) 
Average lead time is given as 6 days i.e. 
Max.lead time Min.lead time

2
+ = 6 days.......................................................(ii) 

Putting the value of (i) in (ii), 
Min. lead time  4 days Min.lead time

2
+ +    = 6 days 

Or, Min. lead time + 4 days + Min. lead time  = 12 days 
Or, 2 Min. lead time       = 8 days 

Or, Minimum lead time = 8days
2

   = 4 days 

Putting this Minimum lead time value in (i), we get  
Maximum lead time = 4 days + 4 days = 8 days 
(i) Maximum consumption per day: 

 Re-order level = Max. Re-order period × Maximum Consumption per day 
 1,60,000 units = 8 days × Maximum Consumption per day 

 Or, Maximum Consumption per day = 1,60,000units
8days

 = 20,000 units  

(ii) Minimum Consumption per day:  

Maximum Stock Level =  
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Re-order level + Re-order Quantity – (Min. lead time × Min. Consumption per day) 
Or, 1,90,000 units = 1,60,000 units + 90,000 units – (4 days × Min. Consumption per day) 
Or, 4 days × Min. Consumption per day = 2,50,000 units – 1,90,000 units 

Or, Minimum Consumption per day = 60,000  units
4  days

 = 15,000 units  

(b)  
Units sold Sales value (`) Profit/ (loss) (`) 

16,000 units 4,80,000 
(` 30 × 16,000 units) 

(1,60,000) 
(` 10 × 16,000 units) 

40,000 units 12,00,000 
(` 30 × 40,000 units) 

3,20,000 
(` 8 × 40,000 units) 

P/V Ratio = Change inprofit 100
Change insales value

×  =  3,20,000 ( 1,60,000) 100
12,00,000 4,80,000

− −
×

−
` ` 

` ` 
 

    4,80,000 100
 7,20,000

= ×
`

`
= 66.67%  

Total Contribution in case of 40,000 units  = Sales Value × P/V Ratio 

         = ` 12,00,000 × 66.67% 

         = ` 8,00,000 

So, Fixed cost        = Contribution – Profit 

         = ` 8,00,000 – ` 3,20,000   

         = ` 4,80,000  

(i)  Break-even Point in Rupees   = FixedCost
P / VRatio

 

         = 4,80,000
66.67%

` = ` 7,20,000  

(ii)  If sales volume is 50,000 units, then profit = Sales Value × P/V Ratio – Fixed Cost 

          = (50,000 units× `  30×66.67% - `  4,80,000) 

          = ` 5,20,000 

(iii)  Minimum level of production where the company needs not to close the production, 
if unavoidable fixed cost is ` 1,50,000: 
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         = Avoidable fixedcos t
Contributionper unit

 

         = Total fixedcos t Unavoidable fixedcos t
Contributionper unit

−  

         = 4,80,000  1,50,000
 30 66.67%

−
×

` `

`
 

         =  3,30,000
 20

`

`
= 16,500 units.  

 At production level of ≥ 16,500 units, company needs not to close the production.  
(c) (i) (Note: The par value of equity share is assumed to be `100) 

 Amount  = ` 80 Lakhs 

 Plan I  = Equity of ` 60 lakhs + Debt of ` 20 lakhs 

 Plan II = Equity of ` 40 lakhs + Debentures of ` 40 Lakhs. 

 Plan I:  Interest Payable on Loan 

  = 0.12 x 20,00,000 = 2,40,000 

 Plan II: Interest Payable on Debentures 

  = 0.12 x 40,00,000 = 4,80,000 

 Computation of Point of Indifference 

 
( ) ( )

1

EBIT - I  I - t
 = 

E
( ) ( )

2

2

EBIT - I   I - t
  

E
 

  ( ) ( )EBIT -  2,40,000  1- 0.3
 =  

60,000
( ) ( )EBIT -  4,80,000  I - 0.3

   
40,000

 

 2 (EBIT – 2,40,000) = 3(EBIT – 4,80,000) 

 2 EBIT – 4,80,000 =   3 EBIT – 14,40,000 

 2 EBIT – 3 EBIT =  -14,40,000 + 4,80,000 

 EBIT = 9,60,000 
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(ii) Earnings per share (EPS) under Two Situations for both the Plans 

Situation A (EBIT is assumed to be ` 9,50,000) 

Particulars  Plan I Plan II 

EBIT 9,50,000 9,50,000 
Less: Interest @ 12% 2,40,000 4,80,000 
EBT 7,10,000 4,70,000 
Less: Taxes @ 30%  2,13,000 1,41,000 
EAT 4,97,000 3,29,000 
No. of Equity Shares  60,000 40,000 
EPS 8.28 8.23 

Comment: In Situation A, when expected EBIT is less than the EBIT at indifference 
point then, Plan I is more viable as it has higher EPS. The advantage of EPS would be 
available from the use of equity capital and not debt capital.  

Situation B (EBIT is assumed to be ` 9,70,000) 

Particulars  Plan I Plan II 

EBIT 9,70,000 9,70,000 
Less: Interest @ 12% 2,40,000 4,80,000 
EBT 7,30,000 4,90,000 
Less: Taxes @ 30%  2,19,000 1,47,000 
EAT 5,11,000 3,43,000 
No. of Equity Shares  60,000 40,000 
EPS 8.52 8.58 

Comment: In Situation B, when expected EBIT is more than the EBIT at indifference 
point then, Plan II is more viable as it has higher EPS.  The use of fixed-cost source of 
funds would be beneficial from the EPS viewpoint. In this case, financial leverage would 
be favourable. 

 (Note: The problem can also be worked out assuming any other figure of EBIT 
which is more than 9,60,000 and any other figure less than 9,60,000.  Alternatively, 
the answer may also be based on the factors/governing the capital structure like the 
cost, risk, control, etc. Principles). 

(d) (i) Calculation of Value of Firms ‘A Ltd.’ and ‘B Ltd’ according to MM Hypothesis 

 Market Value of ‘A Ltd’ (Unlevered) 

 Vu  = 
( )EBIT 1 - t

Ke
 

© The Institute of Chartered Accountants of India



 = 
( )2,50,000 1 - 0.30

20%
 

 =  1,75,000   8,75,000
20%

= `  

Market Value of ‘B Ltd.’ (Levered) 

 V E  = Vu + DT 
  = 8,75,000 + (10,00,000 x 0.30) 
  = 8,75,000 + 3,00,000 = ` 11,75,000  
(ii) Computation of Weighted Average Cost of Capital (WACC) 

  WACC of ‘A Ltd.’ = 20% (Ke =Ko)  
  WACC of ‘B Ltd.’ 

  B Ltd. 

EBIT 2,50,000 
Interest to Debt holders (1,20,000) 
EBT 1,30,000 
Taxes @ 30% (39,000) 
Income available to Equity Shareholders 91,000 
Total Value of Firm 11,75,000 
Less: Market Value of Debt (10,00,000) 
Market Value of Equity 1,75,000 
Ke = 91,000 / 1,75,000 0.52 

For Computation of WACC B. Ltd  

Component of Costs Amount Weight Cost of Capital  WACC 

Equity 1,75,000 0.149 0.52 0.0775 
Debt 10,00,000 0.851 0.084* 0.0715 
 11,75,000  WACC 0.1490 

  Kd= 12% (1- 0.3) = 12% x 0.7 = 8.4%  
WACC = 14.90%  

Question 2 

(a) Z Limited obtained a contract No. 999 for ` 50 lacs. The following details are available in 

respect of this contract for the year ended March 31, 2014: 
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  ` 

Materials purchased 1,60,000 

Materials issued from stores 5,00,000 

Wages and salaries paid 7,00,000 

Drawing and maps 60,000 

Sundry expenses 15,000 

Electricity charges 25,000 

Plant hire expenses 60,000 

Sub-contract cost 20,000 

Materials returned to stores 30,000 

Materials returned to suppliers 20,000 

The following balances relating to the contract No. 999 for the year ended on March 31, 

2013 and March 31, 2014 are available: 

 as on 31st March, 2013 as on 31st March, 2014 

Work certified 12,00,000 35,00,000 

Work uncertified 20,000 40,000 

Materials at site 15,000 30,000 

Wages outstanding 10,000 20,000 

The contractor receives 75% of work certified in cash.  

Prepare Contract Account and Contractee's Account. (8 Marks) 

(b)  Balance Sheets of Star Ltd. are as under: 

Balance Sheet      (in lakh `) 

Liabilities 31/03/13 
` 

31/03/1
4 ` 

Assets 31/03/13 

` 

31/03/14 

` 

Share Capital 24.00 30.00 Plant & Machinery 15.00 21.00 

Reserve 4.50 6.00 Buildings 12.00 18.00 

Profit & Loss A/c 1.80 3.00 Investments - 3.00 

Debentures - 6.00 Sundry Debtors 21.00 15.00 

Provision for Taxation 2.10 3.00 Stock 6.00 12.00 

Proposed Dividend 3.00 6.00 Cash in hand/Bank 6.00 6.00 

Sundry Creditors 24.60 21.00    

Total  60.00 75.00  60.00 75.00 
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With the help of following additional information, prepare Cash Flow Statement: 

(i) Depreciation on plant and machinery was charged @ 25% on its opening balance 

and on building @ 10% on its opening balance. 

(ii) During the year an old machine costing ` 1,50,000 (written down value ` 60,000) 

was sold for ` 1,05,000. 

(iii) ` 1,50,000 was paid towards Income-tax, during the year. (8 Marks) 

Answer 

(a)   Contract No. 999 Account for the year ended 31st March, 2014 

Dr.   Cr. 
Particulars Amount (`) Particulars Amount (`) 

To Work in progress b/d:  By Material returned to store 30,000 
- Work certified 12,00,000 By Material returned to 

 suppliers 
20,000 

- Work uncertified 20,000 By Stock (Material) c/d 30,000 
To Stock (Materials) b/d 15,000 By Work in progress c/d:  
To Material purchased 1,60,000 - Work certified 35,00,000 
To Material issued 5,00,000 - Work uncertified 40,000 
To Wages paid 7,00,000    
Less: Opening O/s (10,000)    
Add: Closing O/s   20,000 7,10,000   
To Drawing and maps* 60,000   
To Sundry expenses 15,000   
To Electricity charges 25,000   
To Plant hire expenses 60,000   
To Sub- contract cost 20,000   
To Notional profit c/d 
 (balancing figure) 

 
  8,35,000 

  
  

 36,20,000  36,20,000 
To Costing P& L A/c (W.N.-1) 4,17,500 By Notional profit b/d 8,35,000 
To WIP Reserve (balancing figure) 4,17,500    
 8,35,000  8,35,000 

*Assumed that expenses incurred for drawing and maps are used exclusively for this contract 
only. 
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Dr.      Contractee’s Account      Cr. 
Particulars Amount (`) Particulars Amount (`) 

To Balance c/d 
(` 35,00,000 × 75%) 

26,25,000 By Balance b/d  
(75% of ` 12,00,000) 

9,00,000 

  By Bank A/c 17,25,000 
 26,25,000  26,25,000 

Working Note: 

1. Profit to be Transferred to Costing Profit & Loss account: 

 (a) Percentage of completion = Work certfied x100
Value of contract

  

       = 35,00,000 x100
50,00,000

` 

` 
 = 70% 

 (b) Profit to be transferred to Costing Profit & Loss Account 

 = 
3
2 × Notional profit × 

certifiedWork
receivedCash  

 = 
3
2 × ` 8,35,000 × 75

100
 = ` 4,17,500   

(b) Cash Flow Statement for the year ending on March 31, 2014 

 ` in lakhs ` in lakhs 

I. Cash flows from Operating Activities   
 Net profit made during the year (W.N.1) 8.70  
 Provision for taxation made during the year 2.40  
 Profit on sale of machinery  (0.60)  
 Adjustment for depreciation on Machinery (W.N.2) 3.75  
 Adjustment for depreciation on Land & Building 1.20  
 Operating profit before change in Working Capital  15.45  
 Increase in inventory (6.00)  
 Decrease in Debtors 6.00  
 Decrease in Creditors (3.60)  
 Cash generated from operations 11.85  
 Income-tax paid (1.50)  
 Net cash from operating activities      10.35   
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II. Cash flows from Investing Activities 

 Purchase of Machinery (10.20)  
         Sale of Machinery 1.05  
         Purchase of Building (7.20)  
 Purchase of investments (3.00)  
  (19.35)     
III. Cash flows from Financing Activities   
 Issue of shares  6.00  
 Issue of debentures 6.00  
 Dividend paid (3.00) 9.00 
Net increase in cash and cash equivalent  Nil 
Cash and cash equivalents at the beginning of the period  6.00 
Cash and cash equivalents at the end of the period  6.00 

 Working Notes: 

(i) Net Profit made during the year ended 31.3.2014 

 ` in lakhs 

Increase in P & L (Cr.) Balance 1.20 
Add: Transfer to general reserve 1.50 
Add: Provided for proposed dividend during the year 6.00 
  8.70 

(ii)               Plant & Machinery Account 

  ` in lakhs   ` in lakhs 

To Balance b/d 15.00 By Depreciation 
(Bal. Fig.) 
[25% of 15 ] 

3.75 

To  P& L A/c  
[1.05 less 0.45 (0.60 
less depreciation 
0.15)] 

0.60 By Cash/Bank A/c 1.05 

To Cash/Bank 
(balancing fig.) 

10.20 
  

By Balance c/d 21.00 
  

  25.80   25.80 
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(iii)            Provision for Taxation Account 

  ` in lakhs   ` in lakhs 

To Cash/Bank (Bal. Fig.) 1.50 By Balance b/d 2.10 
To Balance c/d 3.00 By P & L A/c 2.40 
  4.50   4.50 

(iv)               Proposed Dividend Account 

  ` in lakhs   ` in lakhs 

To Bank 3.00* By Balance b/d 3.00 
To  Balance c/d 6.00 By P & L A/c (Bal. Fig.) 6.00 

  9.00   9.00 
  * last year proposed dividend assumed to be paid this year. 

(v)                            Building Account 

  ` in lakhs   ` in lakhs 

To Balance b/d 12.00 By Depreciation 1.20 
To Bank A/c (Purchase) 7.20    
    By Balance c/d 18.00 
  19.20   19.20    

Question 3 

(a)  RST Limited is presently operating at 50% capacity and producing 30,000 units. The 

entire output is sold at a price of ` 200 per unit. The cost structure at the 50% level of 

activity is as under: 

  ` 

Direct Material 75 per unit 

Direct Wages 25 per unit 

Variable Overheads 25 per unit 

Direct Expenses 15 per unit 

Factory Expenses (25% fixed) 20 per unit 

Selling and Distribution Exp. (80% variable) 10 per unit 

Office and Administrative Exp. (100% fixed) 5 per unit 

The company anticipates that the variable costs will go up by 10% and fixed costs will go 

up by 15%. 

© The Institute of Chartered Accountants of India



You are required to prepare an Expense budget, on the basis of marginal cost for the 

company at 50% and 60% level of activity and find out the profits at respective levels. 

  (8 Marks) 

(b) From the following information, prepare Balance Sheet of a firm: 

Stock Turnover Ratio (based on cost of goods sold) - 7 times 

Rate of Gross Profit to Sales     - 25% 

Sales to Fixed Assets       - 2 times 

Average debt collection period     - 1.5 months 

Current Ratio         - 2 

Liquidity Ratio        - 1.25 

Net Working Capital        - ` 8,00,000 

Net Worth to Fixed Assets      - 0.9 times 

Reserve and Surplus to Capital     - 0.25 times 

Long Term Debts       - Nil 

All Sales are on credit basis. (8 Marks) 

Answer 

(a)  Expense Budget of RST Ltd. for the period 

 Per unit 
(`) 

30,000 units 36,000 units 

Amount (`) Amount (`) 

Sales                                                 (A) 200.00 60,00,000 72,00,000 
Less: Variable Costs:    

- Direct Material 82.50 24,75,000 29,70,000 
- Direct Wages 27.50 8,25,000 9,90,000 

- Variable Overheads 27.50 8,25,000 9,90,000 
- Direct Expenses 16.50 4,95,000 5,94,000 
- Variable factory expenses 

(75% of ` 20 p.u.) 
16.50 4,95,000 5,94,000 

- Variable Selling & Dist. exp. 
(80% of ` 10 p.u.) 

   8.80  2,64,000 3,16,800 

Total Variable Cost                            (B) 179.30 53,79,000 64,54,800 
Contribution                     (C) = (A – B) 20.70 6,21,000 7,45,200 
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Less: Fixed Costs:    
- Office and Admin. exp. (100%) -- 1,72,500 1,72,500 
- Fixed factory exp. (25%) -- 1,72,500 1,72,500 
- Fixed Selling & Dist. exp. (20%) -- 69,000 69,000 

Total Fixed Costs                              (D) -- 4,14,000 4,14,000 

Profit                                           (C – D) -- 2,07,000 3,31,200 

(b) Working Notes; 

1. Net Working Capital = Current Assets – Current Liabilities 
       = 2 - 1 = 1 

Current Assets = 
Net Working Capital × 2

1  

   = 8,00,000 × 2
1

 

  Current Assets     =16,00,000 
  Current Liabilities = 16,00,000 – 8,00,000 = 8,00,000 

 2. Liquid Ratio = 
Liquid Assets

Current Liabilities
 

1.25 = Current Assets - Stock
Current Liabilities

 

1.25 = 16,00,000 - Stock
8,00,000

 

1.25 x 8,00,000 = 16,00,000 – Stock 
10,00,000 = 16,00,000 – Stock 
Stock  = 6,00,000   
Liquid Assets = 1.25 x 8,00,000 = 10,00,000 

3. Stock Turnover Ratio   = COGS
Stock

 

     7 = COGS
6,00,000

 

    COGS = 42,00,000 
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4. Sales – Gross Profit = COGS 

 Gross Profit = 25%
Sales

 

 Gross Profit = 25% Sales 
 Sales – 25% Sales = COGS 

 Sales = 42,00,000 = 56,00,000
0.75

 

5. Debtors turnover Ratio = 12 = 8
1.5

 

 Debtors = Credit Sales
Debtors Turnover

 

 = 56,00,000 = 7,00,000
8

 

6. Sales = 2
Fixed Assets

 

 Fixed Assets = 56,00,000 = 28,00,000
2

  

7. Net worth = Fixed Assets + Current Assets – Long-term Debt – Current Liabilities 
     = 28,00,000 + 16,00,000 – 0 – 8,00,000 

   = 36,00,000  

8. Reserves & Surplus = 0.25
Capital

 

 Net worth = Reserves and Surplus + Capital 

 Capital = 
36,00,000 = 28,80,000

1.25
  

 Reserves and Surplus = 0.25 x 28,80,000 
       = 7,20,000 

         
9. Cash = Liquid Assets – Debtors 

    = 10,00,000 – 7,00,000 = 3,00,000 
10.  Long Term Debts = Nil 
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Draft Balance Sheet 

Liabilities  `  Assets  `  
Share Capital 28,80,000 Fixed Assets 28,00,000 
Reserves and Surplus  7,20,000 Current Assets:  
Long Term Debts - Stock 6,00,000 
Current Liabilities 8,00,000 Debtors 7,00,000 
                 - Cash  3,00,000 
 44,00,000  44,00,000 

 (Note: The above solution has been worked out by ignoring the Net worth to Fixed 
assets ratio given in the question in order to match the total of assets and liabilities in the 
Balance Sheet). 

Question 4 

(a) Following information have been extracted from the cost records of XYZ Pvt. Ltd: 

 ` 

Stores:  

 Opening balance 54,000 

 Purchases 2,88,000 

 Transfer from WIP 1,44,000 

 Issue to WIP 2,88,000 

 Issue for repairs 36,000 

 Deficiency found in stock 10,800 

 

Work-in-progress: ` 

 Opening balance 1,08,000 

 Direct wages applied 1,08,000 

 Overheads charged 4,32,000 

 Closing balance 72,000 

 

Finished Production:  ` 

 Entire production is sold at a profit of 15% on cost at WIP  

 Wages paid 1,26,000 

 Overheads incurred 4,50,000 

Draw the Stores Ledger Control Account, Work-in-Progress Control Account, Overheads 

Control Account and Costing Profit and Loss Account. (8 Marks) 
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(b) The Capital structure of RST Ltd. is as follows: 

 ` 

Equity Share of ` 10 each 8,00,000 

10% Preference Share of ` 100 each 5,00,000 

12% Debentures of ` 100 each 7,00,000 

 20,00,000 

Additional Information: 

- Profit after tax (Tax Rate 30%) are ` 2,80,000 

- Operating Expenses (including Depreciation ` 96,800) are 1.5 times of EBIT 

- Equity Dividend paid is 15% 

- Market price of Equity Share is ` 23 

Calculate: 

(i)  Operating and Financial Leverage 

(ii)  Cover for preference and equity dividend 

(iii)  The Earning Yield Ratio and Price Earning Ratio 

(iv)  The Net Fund Flow 

Note: All operating expenses (excluding depreciation) are variable.  (8 Marks) 

Answer 

(a)       Stores Ledger Control A/c 

Particulars (`) Particulars (`) 

To Balance b/d  
To  General Ledger  
 Adjustment A/c 
To  Work in Process A/c 

54,000 
2,88,000 

 
1,44,000 

By  Work in Process A/c 
By  Overhead Control A/c 
By  Overhead Control A/c 
 (Deficiency) 
By  Balance c/d 

2,88,000 
36,000 

10,800* 
 

1,51,200 
 4,86,000  4,86,000 

 *Deficiency assumed as normal (alternatively can be treated as abnormal loss) 
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Work in Progress Control A/c 

Particulars (`) Particulars (`) 

To Balance b/d  
To Stores Ledger Control A/c  
To Wages Control A/c  
To Overheads Control a/c  

1,08,000 
2,88,000 
1,08,000 
4,32,000 

 

By Stores Ledger Control a/c  
By Costing P/L A/c  
(Balancing figures being Cost 
of finished goods)  
By  Balance c/d  

1,44,000 
7,20,000 

 
 

72,000 

 9,36,000  9,36,000 

Overheads Control A/c 

Particulars (`) Particulars (`) 

To Stores Ledger Control A/c 
To Stores Ledger Control A/c 
To Wages Control A/c  

(`1,26,000- `1,08,000) 
To Gen. Ledger Adjust. A/c   

36,000 
10,800 
18,000 

 
4,50,000 

By  Work in Process A/c  
By  Balance c/d  

(Under absorption) 
 

4,32,000 
82,800 

 

 5,14,800  5,14,800 

Costing Profit & Loss A/c 

Particulars (`) Particulars (`) 

To Work in progress  
To Gen. Ledger Adjust. A/c 
       (Profit) 

7,20,000 
1,08,000 

By Gen. Ledger Adjust. A/c 
(Sales) (` 7,20,000 × 115%) 

8,28,000 
 

 8,28,000  8,28,000 

(b) Working Notes: 

 `  
Net Profit after Tax 2,80,000 
Tax @ 30% 1,20,000 
EBT 4,00,000 
Interest on Debentures 84,000 
EBIT 4,84,000 
Operating Expenses (1.5 times of EBIT) 7,26,000 
Sales 12,10,000 
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(i) Operating Leverage 

=   Contribution
EBIT

     

    (12,10,000 - 6,29,200)=
4,84,000

 

    5,80,800 = 1.2 times
4,84,000

=

      

 

  Financial Leverage EBIT
EBT

=  

     4,84,000=
4,00,000

 

     = 1.21 times  
OR 

  Financial Leverage EBIT=
Preference DividendEBT -

1- t
 
 
 

 

      4,84,000=
50,0004,00,000 - 
1- 0.30
 
 
   

 

    4,84,000=
4,00,000 - 71,428.57

 

   4,84,000 = 1.47 times
3,28,571

=  

(ii) Cover for Preference Dividend 

 

PAT=  
Preference Share Dividend  

 2,80,000 = 5.6 times
50,000

=  
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 Cover for Equity Dividend 

 (PAT - Preference Dividend)
Equity Share Dividend

 =  

 (2,80,000 - 50,000) 
1,20,000

=  

 2,30,000=  =  1.92 times
1,20,000

 

(iii) Earning Yield Ratio 

 

EPS  ×  100
Market Price

=
 

 = 2,30,000 × 100
80,000

23

 
 
 
 
 

 

 

2.875=  × 100  = 12.5%
23   

 Price – Earnings Ratio (PE Ratio) 

  

Market Price 23=  = 
EPS 2.875  

  = 8 times 
(iv) Net Funds Flow 

 = Net PAT + Depreciation-Total Dividend 

 = 2,80,000 + 96,800 – (50,000 + 1,20,000) 

 = 3,76,800 – 1,70,000 

 Net Funds Flow = 2,06,800 

Question 5 

(a)   Identify the methods of costing for the following: 

(i) Where all costs are directly charged to a specific job. 

(ii)  Where all costs are directly charged to a group of products. 

© The Institute of Chartered Accountants of India



(iii)  Where cost is ascertained for a single product. 

(iv)  Where the nature of the product is complex and method can not be ascertained. 

(b) Explain the treatment of over and under absorption of overheads in cost accounts. 

(c) Explain four kinds of float with reference to management of cash. 

(d)  Distinguish between ‘Operating Lease’ and ‘Financial Lease’.  (4 x 4 = 16 Marks) 

Answer  

(a)  

Sl. No. Method of Costing 

(i) Job Costing 
(ii) Batch Costing 
(iii) Unit Costing or Single or Output Costing  
(iv) Multiple Costing 

(b) Treatment of over and under absorption of overheads are:- 
(i) Writing off to costing P&L A/c:– Small difference between the actual and absorbed 

amount should simply be transferred to costing P&L A/c, if difference is large then 
investigate the causes and after that abnormal loss/ gain shall be transferred to 
costing P&L A/c.  

(ii) Use of supplementary Rate: Under this method the balance of under and over 
absorbed overheads may be charged to cost of W.I.P., finished stock and cost of 
sales proportionately with the help of supplementary rate of overhead. 

(iii) Carry Forward to Subsequent Year: Difference should be carried forward in the 
expectation that next year the position will be automatically corrected. 

(c) Four Kinds of Float with reference to Management of Cash 

The four kinds of float are: 
(i) Billing Float: The time between the sale and the mailing of the invoice is the billing 

float. 
(ii) Mail Float: This is the time when a cheque is being processed by post office, 

messenger service or other means of delivery. 
(iii) Cheque processing float: This is the time required for the seller to sort, record and 

deposit the cheque after it has been received by the company. 
(iv) Bank processing float: This is the time from the deposit of the cheque to the 

crediting of funds in the seller’s account.  
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(d)  Difference between Financial Lease and Operating Lease 

S.No. Finance Lease Operating Lease 

1. The risk and reward incident to 
ownership are passed on the 
lessee. The lessor only remains the 
legal owner of the asset. 

The lessee is only provided the use 
of the asset for a certain time.  Risk 
incident to ownership belongs only 
to the lessor. 

2. The lessee bears the risk of 
obsolescence. 

The lessor bears the risk of 
obsolescence. 

3. The lease is non-cancellable by 
either party under it. 

The lease is kept cancellable by the 
lessor. 

4. The lessor does not bear the cost of 
repairs, maintenance or operations. 

Usually, the lessor bears the cost of 
repairs, maintenance or operations. 

5. The lease is usually full payout. The lease is usually non-payout. 
(Note: Students may answer any four of the above differences) 

Question 6 

(a) PQR Ltd. having an annual sales of ` 30 lakhs, is re-considering its present collection 

policy. At present, the average collection period is 50 days and the bad debt losses are 

5% of sales. The company is incurring an expenditure of ` 30,000 on account of 

collection of receivables. 

The alternative policies are as under: 

 Alternative I Alternative II 

Average Collection Period 40 days 30 days 

Bad Debt Losses 4% of sales 3% of sales 

Collection Expenses ` 60,000 ` 95,000 

Evaluate the alternatives on the basis of incremental approach and state which 

alternative is more beneficial.  (8 Marks) 

(b) The following information relate to Process A: 

(i) Opening Work-in-Progress 8,000 units at ` 75,000 

 Degree of Completion:   

  Material 100% 

  Labour and Overhead 60% 

(ii) Input 1,82,000 units at ` 7,37,500 

(iii) Wages paid ` 3,40,600 

(iv) Overheads paid ` 1,70,300 
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(v) Units scrapped 14,000 

 Degree of Completion:   

  Material 100 % 

  Wages and Overheads 80% 

(vi) Closing Work - in- Progress 18,000 units 

 Degree of Completion:   

  Material 100% 

  Wages and Overheads  70% 

(vii) Units completed and transferred 1,58,000 to next process  

(viii) Normal loss 5% of total input including opening WIP  

(ix) Scrap value is ` 5 per unit to be adjusted out of direct material cost 

You are required to compute on the basis of FIFO basis: 

(i)  Equivalent Production 

(ii)  Cost Per Unit 

(iii)  Value of Units transferred to next process.  (8 Marks) 

Answer  

(a)  Evaluation of Alternative Collection Programmes 

 Present Policy Alternative I Alternative II 

 `  `  `  

Sales Revenues 30,00,000 30,00,000 30,00,000 
Average Collection Period (ACP) (days) 50 40 30 
Receivables 

(`) ACPSales × 
360

 
 
 

 

4,16,667 3,33,333 2,50,000 

Reduction in Receivables from Present 
Level (`) 

 
− 

 
83,334 

 
1,66,667 

Savings in Interest @ 10% p.a.         (A) − `  8,333 `  16,667 
% of Bad Debt Loss 5% 4% 3% 
Amount (`) 1,50,000 1,20,000 90,000 
Reduction in Bad Debts from Present 
Level               (B) 

 
− 

 
30,000 

 
60,000 
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Incremental Benefits from Present  
Level          (C) = (A) + (B) 

 
− 

 
38,333 

 
76,667 

Collection Expenses (`)  30,000 60,000 95,000 
Incremental Collection Expenses from 
Present Level                                     (D) 

 
− 

 
30,000 

 
65,000 

Incremental Net Benefit               (C – D) − `  8,333 `  11,667 

Conclusion:  From the analysis it is apparent that Alternative I has a benefit of ` 8,333 
and Alternative II has a benefit of ` 11,667 over present level.  Alternative II has a benefit 
of ` 3,334 more than Alternative I.  Hence Alternative II is more viable.  
(Note: In absence of Cost of Sales, sales has been taken for purpose of calculating 

investment in receivables. Cost of Funds has been assumed to be 10%. 1 year = 360 days.) 

(b) (i)      Statement of Equivalent Production 

(FIFO Method) 

Input Output Equivalent Production 

Particulars Units Particulars Units Material Labour & Overheads 

(%) Units (%) Units 

Opening WIP 8,000 Transfer to next Process :      
Introduced 1,82,000 Opening WIP completed 8,000 -- -- 40 3,200 
  Introduced & completed 1,50,000 100 1,50,000 100 1,50,000 
  Normal loss 

5% (8,000 + 182,000) 
9,500 -- -- -- -- 

  Abnormal loss 4,500 100 4,500 80 3,600 
  Closing WIP 18,000 100 18,000 70 12,600 
 1,90,000  1,90,000  1,72,500  1,69,400 

 (ii) Computation of Cost per unit  

Particulars  Materials 

(`) 

Labour 

(`) 

Overhead 

(`) 

Input of Materials 7,37,500 -- -- 
Expenses  -- 3,40,600 1,70,300 
Total 7,37,500 3,40,600 1,70,300 
Less : Sale of Scrap (9,500 units x ` 5 ) (47,500) -- -- 
Net cost  6,90,000 3,40,600 1,70,300 
Equivalent Units  1,72,500 1,69,400 1,69,400 
Cost Per Unit  4.0000     2.0106  1.0053  

  Total cost per unit = `  (4.0000 + 2.0106 + 1.0053) = ` 7.0159  
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 (iii)  Value of units transferred to next process: 

 Amount (`) Amount (`) 

Opening W-I-P 75,000  
Add: Labour (3,200 units × ` 2.0106) 6,434  
Overhead (3,200 units × ` 1.0053) 3,217 84,651 
New introduced (1,50,000 units × ` 7.0159)  10,52,385 
  11,37,036 

Question 7  

Answer any four of the following:  

(a)  Why money in the future is worth less than similar money today? Give the reasons and 

explain. 

(b)  Distinguish between 'Business Risk' and 'Financial Risk'.  

(c)  What is 'Internal Rate of Return'? Explain. 

(d)  State the different types of Packing Credit. 

(e)  Define ‘Labour Turnover’. How is it measured? Explain. (4 x 4 = 16 Marks) 

Answer  

(a)  Money in the Future is worth less than the Similar Money Today due to several reasons: 
 Risk − There is uncertainty about the receipt of money in future. 
 Preference For Present Consumption − Most of the persons and companies in 

general, prefer current consumption over future consumption. 
 Inflation − In an inflationary period a rupee today represents a greater real 

purchasing power than a rupee a year hence. 
 Investment Opportunities − Most of the persons and companies have a 

preference for present money because of availabilities of opportunities of 
investment for earning additional cash flow. 

(b)  Business Risk and Financial Risk: Business risk refers to the risk associated with the 
firm’s operations.  It is an unavoidable risk because of the environment in which the firm 
has to operate and the business risk is represented by the variability of earnings before 
interest and tax (EBIT). The variability in turn is influenced by revenues and expenses. 
Revenues and expenses are affected by demand of firm’s products, variations in prices 
and proportion of fixed cost in total cost. 
Whereas, Financial risk refers to the additional risk placed on firm’s shareholders as a 
result of debt use in financing.  Companies that issue more debt instruments would have 

© The Institute of Chartered Accountants of India



higher financial risk than companies financed mostly by equity.  Financial risk can be 
measured by ratios such as firm’s financial leverage multiplier, total debt to assets ratio 
etc. 

(c)  Internal Rate of Return: It is that rate at which discounted cash inflows are equal to the 
discounted cash outflows. It can be stated in the form of a ratio as follows: 

Cash inflows 1
Cash Outflows

=
 

This rate is to be found by trial and error method. This rate is used in the evaluation of 
investment proposals. In this method, the discount rate is not known but the cash 
outflows and cash inflows are known. 
In evaluating investment proposals, internal rate of return is compared with a required 
rate of return, known as cut-off rate. If it is more than cut-off rate the project is treated as 
acceptable; otherwise project is rejected.  

(d)  Different Types of Packing Credit 

 Packing credit may be of the following types:  
(i) Clean Packing credit: This is an advance made available to an exporter only on 

production of a firm export order or a letter of credit without exercising any charge 
or control over raw material or finished goods. It is a clean type of export advance. 
Each proposal is weighted according to particular requirements of the trade and 
credit worthiness of the exporter. A suitable margin has to be maintained. Also, 
Export Credit Guarantee Corporation (ECGC) cover should be obtained by the 
bank. 

(ii) Packing credit against hypothecation of goods: Export finance is made available 
on certain terms and conditions where the exporter has pledgeable interest and the 
goods are hypothecated to the bank as security with stipulated margin. At the time 
of utilising the advance, the exporter is required to submit alongwith the firm export 
order or letter of credit, relative stock statements and thereafter continue submitting 
them every fortnight and whenever there is any movement in stocks. 

(iii) Packing credit against pledge of goods: Export finance is made available on 
certain terms and conditions where the exportable finished goods are pledged to the 
banks with approved clearing agents who will ship the same from time to time as 
required by the exporter. The possession of the goods so pledged lies with the bank 
and is kept under its lock and key. 

(iv) E.C.G.C. guarantee: Any loan given to an exporter for the manufacture, 
processing, purchasing, or packing of goods meant for export against a firm order 
qualifies for the packing credit guarantee issued by Export Credit Guarantee 
Corporation. 
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(v)  Forward exchange contract: Another requirement of packing credit facility is that if 
the export bill is to be drawn in a foreign currency, the exporter should enter into a 
forward exchange contact with the bank, thereby avoiding risk involved in a possible 
change in the rate of exchange. 

(Note: Students may answer any four of the above packing credits). 
(e) Labour turnover in an organisation is the rate of change in the composition of labour 

force during a specified period measured against a suitable index. The standard of usual 
labour turnover in the industry or labour turnover rate for a past period may be taken as 
the index or norm against which actual turnover rate should be compared. 

 The methods for measuring labour turnover are: 
 Replacement method: This method takes into consideration actual replacement of 

labour irrespective of no. of workers leaving. 

Replacement method = 
yeartheduringrollonemployeesofnumberAverage

yeartheduringreplacedemployeesofNumber × 100 

Separation method: In this method labour turnover is measured by dividing the total no. 
of separations during the period by average no. of workers on payroll during the same 
period. 

 Separation method    = 
yeartheduringrollonemployeesofnumberAverage

yeartheduringseparatedemployeesofNumber × 100 

 Flux method: This method takes into account both the replacements as well as no. of 
separations during the period. 

 Flux method   = 

No.of employeesreplaced No.of employees separated
duringthe year duringthe year

Average number of employees on roll during the year

 
+ 

 
 
 
 

 × 100  
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